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1
(v g/ml) RSD (n=5) (b g/ml) RSD (n=5)
1.04 4.22 1.03 2.76
0.94 1.89 0.93 0.60
1.03 2.11 1.00 1.49
0.98 2.43 0.94 0.74
2
() RSD (n=3) () RSD(n=3)
2y g (0.2ppm) 92.7 0.78 96.2 1.07
0.1y g (0.01ppm) 98.8 1.74
24 g (0.2ppm) 96.0 0.53 96.5 0.58
0.1p g (0.01ppm) 108 0.93
()
3 15
(1 9/9) RSD
1 2 3 4 5 (1 9/9) (1 9/9) ()
0.138 0.137 0.138 0.143 0.142 0.140 1.94 0.15 93.3
0.225 0.224 0.225 0.246 0.230 0.230 4.02 0.25 92.0
0.01ppm
RSD 2.76 (n=3) 2
0.60
1.49 0.74 98.8 RSD
1.74 108 0.93
5
1.0p g/ml 7
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EPN
-d6 1) 56
20
RSD 38 42(2001)
2)
HPLC
21 36 40(2002)
3) GC/MS
22 33 39(2003)
) RSD (n=3) ( RSD (n=3)
106 5.43 100 2.12
-d6 100 1.06 107 1.84
-d10 102 0.75 102 1.37
104 4.13 96.6 1.49
-d6 98.1 0.89 103 1.39
-d10 99.6 1.21 98.7 0.93
103 4.26 97.5 1.55
-d6 97.3 0.67 104 1.79
-d10 98.8 0.92 99.6 0.71
116 4.94 94.9 1.55
EPN -d6 109 1.25 101 2.32
-d10 111 2.03 96.9 0.42




